NAME:  ____________________________________

ALGEBRA

SOLVING QUADRATIC EQUATIONS
Solve by factoring.
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Use the quadratic formula to solve each equation.  If the equation has no real solutions, write no real solutions.  If necessary, round your answers to the nearest hundredth.
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Since the discriminant is positive, there are two solutions.
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Since the discriminant is positive, there are two solutions.
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Since the discriminant is positive, there are two solutions.
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Since the discriminant is positive, there are two solutions.
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Determine the number of real solutions for each equation.  If there are no solutions, write no solutions.  If there is a solution, round to the nearest hundredth, if necessary.
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       2 Solutions
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       1 Solution
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          2 Solutions
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     2 Solutions
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Solve using any method.  If there are no real solutions, write no solutions.  If necessary, round your answer to the nearest hundredth.
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No solution.  Cannot take the square 

root of a negative number.
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     No Solution
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Applications.

1.  Suppose you are going to construct a circular 



1.  _________

     fish pond in your garden.  You want the pond to 
     cover an area of 300 ft2.  What is the radius of the 
     pond?
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2.  A rectangular poster has an area of 190 in.2.  The



2.  _________

     height of the poster is 1 in. less than twice its width.  
     Find the dimensions of the poster.
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The width is 10 in, the length is 19 in
3.  A ball is thrown upward with an initial velocity of 25 ft/sec. from a height of 4 ft. 

A.   If no one touches the ball, at what time will the 



3A.  ________

       ball hit the ground?
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Since the time cannot be a negative value, the ball will hit the ground at 1.71 seconds after being thrown.

B.  What is the maximum height the ball will reach?



3B.  ________
Maximum height is talking about when the ball reaches the vertex.  Find the axis of symmetry first, then substitute to find the height.
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The ball is at its maximum height at 13.77 ft

4.  A firefighter is on the fifth floor of an office building.  


4.  _________

     She needs to throw a rope into the window above her 
     on the seventh floor.  The function h = -16t2 + 36t models 
     how high above her she is able to throw a rope.  If she 
     needs to throw the rope 40 ft above her to reach the 
     seventh-floor window, will the rope get to the window?
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Since the discriminant is negative, there is no solution.  Therefore, the rope will never get to the window following this parabola.
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